Richard Kaufman

Homework #6 

Applied Math 1

Typed using MathType
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SOLUTIONS OF PARTIAL DIFFERENTIAL EQUATIONS
12.32]  (a)  Show that 
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(b)  Find a particular solution satisfying  
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12.34a]  Find a partial differential equation having general solution


(a) 
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SOME IMPORTANT PARTIAL DIFFERENTIAL EQUATIONS
12.35]  If a taut, horizontal string with fixed ends vibrates in a vertical plane under the influence of gravity, show that its equation is 
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where g is the acceleration due to gravity. 
METHOD OF FINDING SOLUTIONS OF PARTIAL DIFFERENTIAL EQUATIONS
12.41a]  Solve 
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SEPARATION OF VARIABLES
12.46a]  Solve .. the following boundary-value problem(s) by the method of separation of variables.
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SOLUTIONS USING FOURIER SERIES
12.53]  A string 2 ft long is stretched between two fixed points 
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.  If the displacement of the string from the x axis at 
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 and if the initial velocity is zero, find the displacement at any later time.
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